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IMPORTANT NOTES
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(A) Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
TR G o W 56T 87 § 79 3T% Yo 37 UH.SIT. T ) Well THR @ WA |

(B) The question paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.
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(C) Attempt answers cither in Hindi or English, not in both. For Language Papers, answer in concerned language
and script, unless directed otherwise to write in Hindi or English specifically.
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(D) The candidates should not write the answers beyond the prescribed limit of words; failing this, marks will be deducted.
et ) oo e P Y ¥ o T v SR | ST S 3 T 7 R o |

(E) Please write answers only in the prescribed space of booklet. Do not write any mark of identity inside the Answer
Script (including Paper for rough work) i.e. name, address, telephone number, Name of God etc. or any irrelevant
words other than the answer of question. Such act will be treated as unfair means. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is not filled correctly on the O.M.R. Sheet.
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{F) Candidates are directed that they should not write (answer) out side the border line in every page. Answer written
out side the border line will not be checked by the Examiner.
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{(G) Ifthere is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the question, the English version will be treated as standard.
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(H) The Question-Answer Booklet is provided in a sealed envelope to the candidate. Candidate must sign the
declaration as per directions printed on the envelope and return it to the invigilator.
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(I)  Candidate should fifl up all desired details on this attached OMR sheet of Question-Answer Baoklet with blue
bail point pen, Please ensure that this OMR Sheet is not torn or damaged.
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(I)  This OMR Sheet consists of Twao parts, in which some information is pre- prmted remaining details have to be
filled by the candidate.
Tg SLUH.AR, T gt 90T A S ¢, e Hiora gaeans Eifd § 99 & ofa snadft w s

(K) If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer booklet, otherwise the candidate will be liable for that.
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Special Notes :
If there is any wrong information filied by the candidate or any atternpt is made to damage it or any marking as identification -
is done, then his candidature for the entire examination shall be rejected by the commission, for which he will be liable.
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Paper -1 GENERAL STUDIES & GENERAL KNOWLEDGE

(Total 200 Marks)
(Total 48 Questions)
Unit -1 (75 Marks)
@Fe-1n : (75 ¥)
Part— A Marks : 10
T — 3T . 10
Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.
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1.  What is the significance of Ghosundi Inscription ?
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2. Write the names of any two ‘atheistic’ religious sects of India other than Buddhism and
Jainsim.
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3.  Mention any two Persian works written during the reign of Akbar.
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4.  Who was known as ‘Frontier Gandhi’ ? Which party was formed by him ?
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5.  Explain the meaning of the term ‘Whiteman’s Burden’.
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Part-B Marks : 25
AT - 3®: 25

Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.
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6.  Discuss the salient features of the Fort archltecture in Rajasthan.
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7. There was arich tradition of ‘Nirguna Bhakti’ in medieval India. Explain.
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Highlight the similarities and differences between the Bundi and Kishangarh schools of

Rajasthani paintings.
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Paper-1 8
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Discuss the contribution of Shahjahan in the field of Mughal Architecture.
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10. In what way the revolt of 1857 was a turning point in Indian history ?
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. Marks: 40
HT-9 @ 40
Note : Attempt all questions. Answer the following questlons in 100 words each. Each question

carries 1{) marks.
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11. In what way the advent of Mahatma Gandhi transformed the Indian Natlonallst
Movement into a mass movement ? "
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12.  Underline the basic features of the Prajamandal Movement in Rajasthan.
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13.  What was the distinctive contribution of Swami Vivekananda to India’s awakening ?
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14. In what way the ‘Enlightenment Age’ transformed the course of European history ?
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(Unit-11) (65 Marks)

@10 (65 3%)

Part— A Marks : 10

WRT — 3 Fw: 10
Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.
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1.  What do you understand by “Poonam field’ in Rajasthan ?
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2. What are mini uphar markets ?
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3. What is the basic theme underlying the National Agricultural Market (NAM) policy ?
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4.  What is the curse of Green Revolution ? . ,
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WhICh crafts have been recently granted registration for Geog'raphlcal Indlcatlon in
Rajasthan under intellectual pr gerty Right initiatives of the state ?
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Part-B Marks : 25
T - A® 25
Note : Attempt all questions. Answer the followmg questions in 50 words each. Each question

carries 5 marks.
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6.  Explain the meaning of inclusive growth and financial inclusion in India.
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7.  What is the “dual structure’ of Goods and Service Tax ? Do you agree with this structure 7
Comment.
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8.  What is “interest subvention’ scheme for agricultural credit in India ?
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9.  What are the objectives of Pradhan Mantri Khanij Kshetra Kalyan Yojana ?
VY @i 8 HeaoT T & 8Yd .1 E 2

—SeTT A T e ST DT ST

=) o~ N\ \
ggeﬂﬁ ~ZI AT AT %r-%trrauf‘ ST XTI
M 2 (S R Qa5 £ = 1) B WS oy P

; ™~ N
ALAT | S TMQ‘}JTAV'S;U Iddd%/ﬂcgf(f_‘;f'

FE  Medl JTaT &

=TT e s iﬁ%’ﬁl‘“gw_rﬁ@?f
m‘d"\@ <°J»U~! =T CEAEL Eﬂr |
TR A A AT z‘w\;t\r cl U{JrfT,a‘;I\l&f

N P
ATl BTTZJHQ—J T T w oL AT 774l

it aswazy =Dl roxe s = i |

A

e ——— .. . e




" AT R

10. Discuss the purpose, time frame and target of Mukhya Mantri Jal Swavlamban Abhiyan
in Rajasthan.
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Part-C - o Marks : 30
HT - | 3 30

Note: Attempt all questions. Answer the following questnons m J00 words each. Each
. question carries 10 marks.
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11. In your view, what strategy should be adopted to double farmer’s income by 2022 as
targeted by the Indian Government ?
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12. ‘The focus of India’s new foreign trade policy 2015-20 is on supporting both
manufacturing and services exports and align it with the Make in India, Digital India
programme and to ease of doing business in India.” Explain this statement.
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13.  What are objectives of the ‘Bureau for Partnership’ in Rajasthan ?
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(Unit-IIT) (Section — A) (20 Marks)

(GFZ-I11) (e — A) (20 3F)
Part— A Marks: 10
AT — 3T I 10
Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.
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1. Name four classical Indian sociologists who have made pioneering contributions to -
Indian Sociology. '
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2. How is caste traditionally associated with division of labour in societyv‘;m’:r—
gﬁﬁmwﬁwﬁfﬁwwmmﬁﬁﬁa%?
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3.  What do you mean by the process of Sanskritization ?

HEH{oRToT i ufehan @ e @ AT § 2 Vi

SN [ I N
g‘%(\‘/\f HIOT o] HE&UTW{‘Z% S,
PN \‘ o~ ™ o (BN 2
TR ATA STl dled ] T " Lo ST <6

:"l'\(-\ . % . ias ji ?ig
QT’A‘W{d[kf{_/ - o >

4 ~ \ [
T I R L &Y wﬁr Qﬂ% @Mdﬁ&r@eﬁnﬁ

™~
FT T AT S A) & @Iourﬁu@ éi' LH%U@
4.  What do you understand by Child Marriage ?
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5. Identify four major probiems which the tribals in Rajasthan are facing.
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Part-B Marks : 10
W - FF: 10

Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.
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6.  Describe the characteristics of caste given by G.S. Ghurye.
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7. Explain the social conseqﬁ!ences of terrorism.
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(Unit-1I1) (Section — B) (20 Marks)

@f-11I) (3% - B) (20 ()
Part— A Marks : 10
W — & 3F: 10
Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.
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What do you mean by delegation ? Q/
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2.

What constitutes ‘Marketing Mix’ for a service ?
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3. What is ‘Capital Structure’ of a company ?
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4.  Distinguish between ‘Recruitment and Selection’.
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5. What do you understand by ‘Ordinary Share’ ? =
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Part-B Marks : 10
W - AF: 10
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.
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6.  Explain wheel, chain and circle communication network.
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(Unit-11I) (Section — C) (20 Marks)

@fF=-1) (@FH - C) (20 3®)
~ Part- A Marks : 10
T 3 3 10
Note: Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.
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1. Write any two objectives of Financial Statement Analysis.
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2.-  What do you understand by Net Working Capital ?
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3.  Define Social Accounting.
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4.  Write any two limitations of Responsibility Accounting.
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(i) Solvency Ratio (ii) Debt-Equity Ratio
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Paper-1
Part— B Marks : 10
WIT-F w10
Note : Attempt all questions. Answer the following questions in 50 words each. Each question

carries 5 marks.
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6.  Give any five differences between Fixed and Flexible Budgets.
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7. Write the meaning of responsibility Accounting and the names of responsibility centres.
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